A/' I § %ﬁ & Phép trir s6 thap phan (2 chir s6)

Tén: Ngay thang: piém: ____
5.01 4.45 4,97 4,91 2.03
-9.69 -6.37 -3.76 -3.34 -5.66
6.97 5.8 6.23 6./78 7.55
-2.43 -8.59 -3.72 —-6.76 -8.63
6.45 5.05 4.62 5.17 2.81
-4.52 -4.06 -2.92 -6.19 -6.71
4.49 1.97 9.37 5.91 1.64
-7.97 -5.78 -4.14 -3.3 -6.22
5.33 3.61 9.6 5.65 2.66
-7.5 -6.17 -4.99 -4.93 -5.68
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4/‘ I § % & Phép trir s6 thap phan (2 chir s6)

Tén: Ngay thang: piém: ____
5.01 4.45 4.97 4,91 2.03
-9.69 -6.37 -3.76 -3.34 -5.66
-4, 68 -1,92 1, 21 1,57 -3, 63
6.97 5.8 6.23 6./8 /.55
-2.43 -8.59 -3.72 -6.76 -8.63
4,54 -2,79 2,51 0, 02 -1, 08
6.45 5.05 4.62 5.17 2.81
-4.52 -4.06 -2.92 -6.19 -6.71
1,93 0, 99 1,7 -1,02 -3,9
4.49 1.97 9.37 5.91 1.64
-7.97 -5.78 -4.14 -3.3 -6.22
-3,48 -3, 81 5,23 2,61 -4, 58
5.33 3.61 9.6 5.65 2.66
-7.5 -6.17 -4.99 -4.93 —-5.68
=2, 17 2,44 4,61 0,72 -3, 02
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